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Logical Reasoning Questions for CLAT Exam. 

CLAT Reasoning Quiz 20 
 

Directions: Read the questions carefully and choose the right answer. 
 

1. Select the one which is different from the other four responses. 

A. Think   B. Reflect   C. Speak   D. Consider   
 

2. Which Pair does NOT belong with the others? 
 

A. 3 : 12   B. 4 : 20   C. 6 : 42   D. 7 : 63 
 

3. If 'cushion' is called 'pillow', 'pillow' is called 'mat', 'mat' is called 'bedsheet' and 
'bedsheet' is called 'cover', which will be spread on the floor ? 

A. Cover    B. Bedsheet    C. Mat    D. Pillow   
 

4. If VICTORY is coded as YLFWRUB, then how can SUCCESS be coded? 
 

A. VXEEIVV   B. VXFFHVV   C. VYEEHVV   D. None of these 

 

5.  Statement: Most of the development plans develop in papers only. 
 

Courses of action: 
I. The in charge should be instructed to supervise the field-work regularly. 
II. The supply of paper to such departments should be cut short. 

A. Only I follows  B. Only II follows  C. Either I or II follows           D. Neither I or II follows 
 

6.  Statements :   No month is a year. 
                     Some years are weeks. 

Conclusion :   I. No weeks is a year. 
                        II. Some weeks are years. 

A. Conclusion I follows.    B. Conclusion II follows.  
C. Either conclusion I or conclusion II follows. D. Both conclusion I and conclusion II follow. 

 
7.  Statements :   All jungles are tigers 
                     Some tigers are horses. 

Conclusion :   I. Some tigers are jungles. 
                        II. All horses are jungles. 

A. Conclusion I follows.    B. Conclusion II follows 
C. Either conclusion I or conclusion II follows. D. Both conclusion I and conclusion II follow. 



 

 

8.  Brick : Mason :: Colour : ? 

A. Child   B. Teacher   C. Painter   D. Potter 
 

9. Sohan said to Mohan, “This girls is the wife of the grandson of my mother”. How is 
Sohan related to this girl? 

A. Grandfather  B. Father   C. Husband   D. Father-in-law 

 

10. Asha walks 3 km Southward and then turns right and walks 2 km. She again turns right 
and walks 3 km and turns towards her left and starts walking straight.  In which direction is 
she walking now? 

A. East    B. North   C. South   D. West 

 

Correct Answers: 

1 2 3 4 5 6 7 8 9 10 

C D B B A B A C D D 

 
 
 
 
Explanations : 

 

1. Speak is different from the other words. Except ‘Speak’, all other words signify abstract actions. 
 

Hence, option C is correct. 
 

 

2.   In all other pairs, (1st number) × (1st number + 1) = 2nd number. 
 

Hence, option D is correct. 
 
 

3.  'mat' will be spread on the floor But 'mat' is called 'bedsheet'.So, a 'bedsheet' will be spread on the 
floor. 
 
Hence, option B is correct. 

 
 
 
 



 

 

4.    

V I C T O R Y 
↓ ↓ ↓ ↓ ↓ ↓ ↓ 
+3 +3 +3 +3 +3 +3 +3 
↓ ↓ ↓ ↓ ↓ ↓ ↓ 
Y L F W R U B 

 
Similarly; 
S U C C E S S 
↓ ↓ ↓ ↓ ↓ ↓ ↓ 
+3 +3 +3 +3 +3 +3 +3 
↓ ↓ ↓ ↓ ↓ ↓ ↓ 
V X F F H V V 
 
Hence, option B is correct. 

 
 

5.  Clearly, proper supervision alone can see the development in practice. So, only course I follows. 
 
Hence, option A is correct. 

 

 

6. No month is a year (E) + Some years are weeks (I) = E + I = O = Some weeks are not month. 
But the above-mentioned conclusion is not there in the given conclusions. 
  
Checking for conversion we get ‘Some weeks are years.’ as the converse of statement II. 
Hence, only conclusion II follows. 
 
Hence, option B is correct. 

 
 

7. As the middle term ‘tigers’ is not being distributed even for once in either of the statements, therefore, 
we can’t find the a definite conclusion between the classes ‘jungles’ and ‘horses’. 
But the above mentioned conclusion is not there in the given conclusions. 
  
Checking for the conversion we get ‘Some tigers are jungles.’ as the converse of statement I. 
 
Hence, only conclusion I follows. 
 
Hence, option A is correct. 

 

 

8. Mason uses bricks to construct buildings. Similarly, Painter uses colour to make art-pieces. 
 

Hence, option C is correct. 
 



 

 

9. The girl is the wife of the grandson of my mother – Sohan’s daughter-in-law 
  

Therefore, Sohan is the Father-in-law of that girl. 
 
Hence, option D is correct. 

 
 

10.  

 
 
She is going to West right now. 
 
Hence, option D is correct. 
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